Summary Report: Attending Institution Data Test:5857 Health and Phys Ed: Content Knowledge Louisiana State Department of Education Institution: University of Louisiana Monroe Category: I. Health as a Discipline/Health Instruction Testing period: SEP-2018 TO AUG-2019 Test Taker Attempts: Highest Score Include All Delivery Modes: Yes

Database was refreshed on: 03/30/2020 15:06:35 EST

Variables	Maximum Points Available	Average % Correct			(lowest) 1st Quartile		2nd Quartile		3rd Quartile		(highest) 4th Quartile	
		National	State/ Agency	Institution	Ν	%	Ν	%	Ν	%	Ν	%
Total												
Total	22	68.53	66.33	63.40	8	42.11	4	21.05	4	21.05	3	15.79
Teacher Preparation Program Description												
Undergraduate Teacher Education Program	22	68.79	67.32	63.64	5	41.67	2	16.67	2	16.67	3	25.00
Master's Degree Education Program	22	70.10	70.13	*	*	*	*	*	*	*	*	*
Alternate Route Program	22	66.92	65.43	62.12	3	50.00	1	16.67	2	33.33	0	0.00

Notes:

* No data are displayed because the test taker count is fewer than 5.

Summary Report: Attending Institution Data Test:5857 Health and Phys Ed: Content Knowledge Louisiana State Department of Education Institution: University of Louisiana Monroe Category: II. Health Education Content Testing period: SEP-2018 TO AUG-2019 Test Taker Attempts: Highest Score Include All Delivery Modes: Yes

Database was refreshed on: 03/30/2020 15:06:35 EST

Variables	Maximum Points Available	Average % Correct			(lowest) 1st Quartile		2nd Quartile		3rd Quartile		(highest) 4th Quartile	
		National	State/ Agency	Institution	Ν	%	Ν	%	Ν	%	Ν	%
Total												
Total	28	70.68	70.01	70.11	5	26.32	6	31.58	6	31.58	2	10.53
Teacher Preparation Program Description												
Undergraduate Teacher Education Program	28	70.11	68.57	68.45	4	33.33	3	25.00	4	33.33	1	8.33
Master's Degree Education Program	28	71.60	66.33	*	*	*	*	*	*	*	*	*
Alternate Route Program	28	71.25	72.11	73.21	1	16.67	2	33.33	2	33.33	1	16.67

Notes:

* No data are displayed because the test taker count is fewer than 5.

Summary Report: Attending Institution Data Test:5857 Health and Phys Ed: Content Knowledge Louisiana State Department of Education Institution: University of Louisiana Monroe Category: III. PE Content Knowledge and Student Growth and Development Testing period: SEP-2018 TO AUG-2019 Test Taker Attempts: Highest Score Include All Delivery Modes: Yes

Database was refreshed on: 03/30/2020 15:06:35 EST

Variables	Maximum Points Available	Average % Correct			(lowest) 1st Quartile		2nd Quartile		3rd Quartile		(highest) 4th Quartile	
		National	State/ Agency	Institution	Ν	%	Ν	%	Ν	%	Ν	%
Total												
Total	18	65.24	63.92	65.79	5	26.32	8	42.11	0	0.00	6	31.58
Teacher Preparation Program Description												
Undergraduate Teacher Education Program	18	66.63	64.81	68.52	1	8.33	7	58.33	0	0.00	4	33.33
Master's Degree Education Program	18	63.66	60.71	*	*	*	*	*	*	*	*	*
Alternate Route Program	18	63.71	63.71	60.19	4	66.67	0	0.00	0	0.00	2	33.33

Notes:

* No data are displayed because the test taker count is fewer than 5.

Summary Report: Attending Institution Data Test:5857 Health and Phys Ed: Content Knowledge Louisiana State Department of Education Institution: University of Louisiana Monroe Category: IV. Management; Motivation; Communication/Collaboration; Reflection; Technology Testing period: SEP-2018 TO AUG-2019 Test Taker Attempts: Highest Score Include All Delivery Modes: Yes

Database was refreshed on: 03/30/2020 15:06:35 EST

Variables	Maximum Points Available	Average % Correct		(lowest) 1st Quartile 2nd Quartile		le	3rd Quartile		(highest) 4th Quartile			
		National	State/ Agency	Institution	Ν	%	Ν	%	Ν	%	Ν	%
Total												
Total	23 - 25	77.82	73.91	75.84	7	36.84	3	15.79	5	26.32	4	21.05
Teacher Preparation Program Description												
Undergraduate Teacher Education Program	23 - 25	78.59	74.57	73.96	5	41.67	2	16.67	3	25.00	2	16.67
Master's Degree Education Program	23 - 25	79.70	81.96	*	*	*	*	*	*	*	*	*
Alternate Route Program	23 - 25	74.98	72.54	76.93	2	33.33	1	16.67	2	33.33	1	16.67

Notes:

* No data are displayed because the test taker count is fewer than 5.

Summary Report: Attending Institution Data Test:5857 Health and Phys Ed: Content Knowledge Louisiana State Department of Education Institution: University of Louisiana Monroe Category: V. PE Planning; Instruction; Student Assessment Testing period: SEP-2018 TO AUG-2019 Test Taker Attempts: Highest Score Include All Delivery Modes: Yes

Database was refreshed on: 03/30/2020 15:06:35 EST

Variables	Maximum Points Available	Average % Correct			(lowest) 1st Quartile		2nd Quartile		3rd Quartile		(highest) 4th Quartile	
		National	State/ Agency	Institution	N	%	Ν	%	Ν	%	Ν	%
Total												
Total	17	72.52	67.61	67.18	10	52.63	6	31.58	1	5.26	2	10.53
Teacher Preparation Program Description												
Undergraduate Teacher Education Program	17	73.67	69.09	66.18	6	50.00	5	41.67	0	0.00	1	8.33
Master's Degree Education Program	17	73.51	69.33	*	*	*	*	*	*	*	*	*
Alternate Route Program	17	69.59	65.33	64.71	4	66.67	1	16.67	1	16.67	0	0.00

Notes:

* No data are displayed because the test taker count is fewer than 5.